
Rappel du 
problème précédent

x -> x3

(xn)’ = nxn-1

(x3)’ = 3x2

x ≥ 2 x3 = x2 + 

x2 + ... + x2

x2

(x3)’ = (x2)’ + (x2)’ +... + (x2)’ 

(xn)’ = 

nxn-1

(x2)’ = 2x (x3)’ = 2x + 2x + ... + 2x = 2x2 2x

x ≥ 2 (x3)’ = 3x2 = 2x2 x2

2 = 3

Solution. x

x3 = x2 + x2 + ... + x2

x -> x3 et x -> x2 + x2 + x2 +... + x2

x = n n3

x n

(n+y)3 ≠ (n+y)2 + (n+y)2 + ... + (n+y)2 = n(n+y)2

x3 = x2 + x2 + ... + x2

x = x2 

pour x = 0, donc x’ = (x2)’ en x = 0, donc 1 = 2x en x = 0, donc 1 = 0
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Les deux enveloppes

2Yx1/2 + Y/2x1/2 = 1,25 Y euros 
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